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JIE 5z = R—JL J—J &R =1
1 RUS 28.275 28.975 57.250
2 BLR 28.525 28.500 57.025
3 ESP 27.550 27.375 54.925
4 ITA 27.525 27.325 54.850
5 ISR 26.975 27.175 54.150
6 UKR 27.100 26.725 53.825
7 GER 26.625 26.200 52.825
8 JPN 26.100 25.225 51.325
9 CAN 25.600 25.550 51.150
JPN: 7 7!)—U 4/ POLA
7H15H
A R— SR (RF)IL—Y)
JIE 52 = R—JL
1 RUS 28.600
2 BLR 28.200
3 ITA 27.675
4 ESP 27.500
5 UKR 27.325
6 ISR 26.900
7 JPN 26.800
8 GER 25.725
R J—T &Ry
JIE 5z = J—J &R
1 RUS 28.225
2 BLR 27.400
3 ITA 27.325
4 ESP 27.075
5 ISR 26.700
6 GER 26.125
7 UKR 25.800
8 CAN 25.600
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